
Exercise 12.1 
Q1. Count how much money 

in each group. 
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the leastnumber ofnotes and coins needed to buythefollowing 
a2 Dre 

represents note,( represents coin. 
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03. Use the given coins in different ways to make up the following: 

Count the money in each bopx:

use 
coins only 

438) 1810 
50p 50p 50p 50p 

09 509 1 
71 1 

coins only 
use 

(2) 
2 coins only 

Use 

MA 4979 

( 

(153 



Q4. Count the money in each box. Which box has 

maximum amount of money 2 
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12 
rupees 50 paise = 

25 rupees
80 paise = 

Write 
in short using the dot. 

12.50 20 

2S 80 

36 rupees 75 paise= 
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47 rupees 30 paise
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O6. Expand and write what it means.

a)10.25 
10 rupees 25 paise 

(D)19.50 
19 9uupen Soaise IKICVALa0s 457532 

(c) 23.75 
20 

(d) 739.30 39 Lpes 30 pase 

(e) 
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YupLes ho fade. 
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Q. How many of these notes will make up the given 
values. 

5+5= 10 

l)10 rupee note for 2 5rupee notes 

6) 10 rupee note for 

2+2+2 +2+2=10

5 2rupee notes 

c) 20rupee note for 
5rupeerupeenotes 

l0 lo 20 

(d) 20 rupee note for 

(2 10rupee note 
S+S tSt S+S+Y+S+S+* 
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2o + 2o 

+20t2

) 100 rupee note for 
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note for ( 50 rupee 
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CX 

Q8. Following are things 
available in the toy shop. 

Q1. Fir 

20 72 
7 10 7 15 5 

71 73 

75 35 

Tddy 
To 

Which is the costliest toy? 

Which is the cheapest toy? 

In 10, which one toy will you buy? Bal 

In 10, which three things will you buy? Mouse tbteeLehul, 

How much amount do you need to 

buya car and a teddy bear? So ubes 

Q9. Put () forthe correct answer and (*) forthe wrong answer. 

Cost of doll is more than the cost of teddy bear. (X) 

In20 we can buy a ball and a car. () 

We can buy 5 toffees with5. ( 

Price of pencil is less than the price of ball. ( 
Cost of ball and rat together is equal to the cost of car. 
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Adding Money 
xercise 12.2 

ind out the total cost. Cross out the notes and coins required. 
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Ex 
Subtracting Money 

Q1. Fin 

Exercise 12.3 (a) 0 

Q1. Find out the amount left. 

Cost of the item 

Money left Moneygiven

9 0 o00000 AA 
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85 L 5 (d) 
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Exercise 12.4 

Find the sum. 

(a) F0.50. 0.30 

05 0 

a1. (b) 0.63 +7 0.26 
306 3 
+02 6 
o812 

(c) 0.47 +0.24 

3047 
+02 4 +0 3 0 

d)30+R45

R3 0 
4 55 

(e) 44 +R55 ( 58+72 

R5 8 
+ 72 

4 4 

7 | 5 5 

gF4.74 +T 3.35 

4 74 
33 5 
8O1

(h)R 21.50+ 32.80 ()7 40.25+ 15.50 

R2 15 0 
3 280 

SHI130 

4 025 
15 50 

Is1s1-h 

02. Find the difference 

a)0.48-F 0.26 

4 8 
2 6 

lol22

(b) R0.79-70.56 (c)0.90-70.70 

07 9 
0.5 6 
lo23 

070 

Lo: 2 
( 74-745 

77 4 
74 5 

(e) 758- 27 
|5 8 
2 7 
31L 

(d) 796-7 85 

R96 
78 5 

9)7 
2.60-761.45 

(h) 7 85.55-7 

63.25 
) F 72.30-731.45()R 72.30-731.45 

72130 

3 1.45 

R92.6 0 
R6 1.4 5 
3-O5 

(h) 85.55-F 63.25 

8 55 5 
-R6325

130 
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Q3. Solve the word problems by adding or subtracting. 

8 5 

cost of the raincoat is 150. Find 

the total cost of both the items. 

(a) Cost of an umbrella is 85 and 1 5 0 
2 35 

(b) Rishab bought playing cards

for 62. He gave R 80 to the 

shopkeeper. How much money

did he get back? 

62 
2 

(c) Rohit bought an ice cream for 

R 70 and a choco pie for 50. How 

much money did he pay to the 

shopkeeper? 

7o 
lo o 

95| (d) Meeta bought a doll for 73. 

Karan bought story book for 95. 

How much more money did Karan 

spendthan Meeta? 2 2 

(e) Sanya spent 57 and Aarti 

spent 10 more than her. How 

much money did they spend 
altogether? 

(f) Pranav had 90 with him. He 
spent 56 on purchasing crayons.
How much money was left with 
him?

5 6 
3 
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